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oz2g+g 700
— A0 XNEAMY dods =g
70,0003 x5H +23| 700
202 OHl 1,265 1,354 A 89
01 = LH 4 Hi 1,265 1,354 A 89
OEO0IH B2NHM U 2SS =2 ALEX
(Gh:]] 10,800 »2H x33| 1,265
307 21201 A 50,000 50,000 0
= 25,000
Al 25,000
02 It S AIHE L 50,000 50,000 0
OSZE 22 E2(H2MHE L 2sHEE)
50,000,000& =14 50,000
= 25,000
Al 25,000
402 RI2EX20| N 200,000 0 200,000
< 100,000
Al 100,000
02 2IZI 2 AL EZ(OI XM TH ) 200,000 0 200,000
O=SZg 2H0lH 2R X AHEE XA
200,000,000 200,000
< 100,000
Al 100,000
==gHd XN 4,000 13,500 A 9,500
201 Let24dH] 4,000 7,000 A 3,000
01 AtR el 4,000 4,000 0
O, = FTAUE JI01E= HHE
5,000& *800 4,000
=HunsE 43t 212,147 203,916 8,231
101 124l 21,594 16,585 5,009
04 JI2ZtHZ22HEE = 21,594 16,585 5,009
O=std gy =& AR 21,594
—Jlas 52,1903 » 1 »247L 12,891
—F5d 52,1903 » 1«52 2,714
— ZHAY| 4,000« 1H 247 988
— B2 S0td| 200,000& x1& #23| 400
—wWEs2 Xl 50,000& x 18 123 600
— Azt =g 11,320 x 1241 2+ x 1 123 1,631
—EA3 16,585,000& /1201 & 1,383
—MEAz B ¢ 82, 170& x1H » 128 987
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SN 2RI EH D
o NGPH L TMSLKE

[und

Sl 45 U 29 25 X8 (S &2)
2 S 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 38,546 38,546 0
01 AP 22| H| 24,800 24,800 0
Ogst=2H| 15,500
—Q=Z202AM HAZ(3H=20)
20,0002 100K x83| 1,600
— 2 SA2a I L2t 5,000& x2008 1,000
— AKX Al &S E SI2
500,000 x2H 2 x33| 6,000
—oHAXOEZAIZ DR JIEE 2L
50,000& *20H x53| 5,000
— Q=20 E EAdIE HEH
50,000& 63| *3H 2 900
—Z3d NREALAAKAZ 23T
200,000 *53| 1,000
oed44d 9,300
— Q=20 s 2 =< 80,000 x252 33| 6,000
— 2 M3t 229 2Al=E 300, 000& x2H 23| 1,200
—ZS3d DNESEALMAKS] 3o EHAELE
70,000& 33| *10H 2,100
02 Z2=2=24%4| 10,746 10,746 0
O232=2 % HA 10,746
~ 2SS 2WRI(Y=2, 5F)
18,100& x153] 272
—ZHES RERI(E=2, ¥=2)
11,800& *x203] 236
— g2 Ol0IHE 23 58,160 x12& 698
— 2|20 SHMH 2342 L SOHLULXM A
2= 170,000 = 12& 2,040
—Hd2ZATXNAIES S Z2HSXNR 22
7,500,000 *13] 7,500
03 A2 E H| 3,000 3,000 0
O=2HM3 LR=X SHAISA 1,000, 000& *33] 3,000
202 044l 45,590 45,679 A 89
01 2L Y| 2,748 2,837 A 89
O=ZHLNE MOUEA & s =8
210,800 x22H 33| 1,265
Ol XHEA & =& 2o
134,800& 11 1,483
03 22 HL204| 42,842 42,842 0
OMHAXHEZAl &2 & =) 42,842
—H1sU=2(AIE)
318%*1, 1112 x1H x5 «2 3] 3,533
— M1z 2S(BAH)
249$+1, 111 »1H x5 x23| 2,767
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2N

& Xtel Z J

MM XEHH & ZMMEAXA
Cel: 4% U 29 BE X
5 . 4
SN EHD B (3H) - MEAY - BAS %@i
— M23 o= (4~53)
205$+1, 111 x5H x5 %2 3| 11,388
— M2z U= (630l56H)
180%x1, 1112 x5 x5 x23| 9,999
—g== 5,155,000 =14l 15,155
301 YerE A 47,736
06 212to1 =22 (4 | 20,000
O3, NMHEA £ SSHNFEHE F8 U2
oI2tol =220 | 500,000 *10H *2 x23| 20,000
07 QBl=&a0 b 21,000
O YA HES A (=8td|, AlH|, AIZ
Hl) 4,200
— F4l 400,000 *1H *3 *13] 1,200
— =3 200,000 x5 32 x 13| 3,000
O==2 dAUA HES =AH(=sttd|, AlH|, Al
zHH]) 8,400
— =4l 400,000 *1H x3 *23] 2,400
— =R 200,000 x5 H x3 23| 6,000
O== AMHAl HE XA (=8H], AHl, AlZ
Hl) 8,400
— F=4l 400,000 *1H x3 *23] 2,400
— =R 200,000 x5 H x3 23| 6,000
09 SHAIAHI B A2 4,000
O=std g 248 2 Z3H HESR
3 |X EE 200,0008 x23| x10H 4,000
11 JIEtE A= 2,736
OSZAYUNSUHAH (=], AH , nEH )=
24| 273,6003*1%*10 | 2,736
307 2iz2to| A 58,681
05 D12t &2 58,681
02 =0 ZHEH &9 58,681
— M3 AEIA olAHY|
1,352,230 3 x 12 48,681
— Z4E 29H(2U2) 10,000,000% 14! 10,000
HYSAAH (L2 FH D) 65,624
JlEdd (L Xeld ) 65,624
TN EDEE ) 65,624
201 et | 27,284
01 At 22| 27.284
CHEIER=YE 16,700
—J2ARES 100,000& 18X 1,800
- J|23a283H 150,000& *23| 300
— EAMNIIES X 22 500,000 «3CH 1,500
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S 2 Xiel A D
M WHSNAH (L R2 M)

¢el: Jl2Z3dl (LRl Z M) (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
—SAIEH 150,000 »3CH 43| 1,800
— =AM EY 330,000 *2CH 23| 1,320
— SAMEX 20,0003 x20 A %128 4,800
— WAl EY 110,000 »1CH =4 3] 440
—diOIMdEZ2H JtEeIXl 237,000 »4CH 53] 4,740
O=2gtl 10,584
— HAAEZ0AHI 7,000& x18H «73| x12& 10,584
202 o4dl 34,560 36,365 A 1,805
01 = LH 4 Hi 34,560 36,365 A 1,805
O Z MY LRFX 2 o4l
20,0003 «18H +83| x12& 34,560
203 PR =&l 3,780 3,780 0
04 EAN2I LRI 3,780 3,780 0
OLiIZMY FA2EF2H
350,000& = 12& x90% 3,780
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